f) L ia6-0
2
%(x2+6x)—620

%(x2+6x+99)6=0

1 , 9
—(x+3-=-6=0
SRR

1 » 21
—(x+3)——=0
2( ) 2

Section 4.3  Page 240 Question 4

a) x° = 64
x==8
1,
) —~-1=11
) 3
lr2=12
3
£ =36
t=+6

Section 4.3  Page 241 Question 5

a) (x—3) =4
x—3==2
x=3x2
x=3+2 or x=3-2
x=5 x=1
2
) (d+lj =1
d+l =]
2
d=—1 11
2
d=—l+ﬂ or d=—l—1
2 2
2 2
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b) 25°—8=0
25 =8
s=+2

d) 5’ +5=-6
y =11

yZiJﬁ

b) (x+2)*=9
x+2==43
x=-2+3

x=-2+3 or x=-2-3

x=1 x=-5
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s——6i£
2
S:—lziﬁ
2

Section 4.3  Page 241 Question 6

a) X’ +10x+4=0
X+ 10x =—4
X+ 10x+25=-4+25
(x+5)* =21
x+5= i\/ﬁ
x=—5i\/i

¢) 3 +6x+1=0

x2+2x+l =0
3
x2+2x=—l

2=t 41

3
2
+1)=2=
(x+1) 3
)chlzJ_r\/g
3
x=—liﬁ
3
3+/6
T
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f) (x+4)° =18
x+4=+/18

x=-4+ 32

b) x> —8x+13=0

X —8x=-13
X —8x+16=-13+16
(x—4)y'=3
x—4=143

x=4+3

d) 2x*+4x+3=0
x2—2x—§=0

2

x2—2x=E
2

D N
2
5
x—1)Y ==
(x—1) 5
x—1=i§

2

xZIiE

2

xzzi\/ﬁ

2
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e) -0.1x*—0.6x+04=0
X +6x—4=0
¥ +ox=4
X¥H6x+9=4+9
(x+3)*=13

x+3=i\/§
x=—3i\/ﬁ

Section 4.3  Page 241 Question 7
a) X’ —8x—4=0
X' —8x=4
X —8x+16=4+16
(x—4)* =20
x—4= 120
x—4=+20 or x—4=-+20
x=4++20 x=4-420

x=8.5 x~-0.5

b) —3x* +4x+5=
4
x - — X =

3

2 4
X — —
3

]

L4
9

0
5
3
5
3
19
?
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f) 0.5x°—4x—-6=0
¥ -8 —12=0
- 8x=12
¥ -8x+16=12+16
(x—4)* =28
x—4=+/28
x=4+2J7
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©) Ly 6x-5=0
2

¥ —12x=10
¥ —12x+36=10+36
(x — 6)> =46
x—6= 146
x—6=\/£ or x—6=—\/£

x=6+ /46 x=6-/46

x~12.8 x~-0.8

d) 0.2x*+0.12x—11=0
x> +0.6x =55
x*+0.6x +0.09 = 55 + 0.09
(x +0.3)* = 55.09

x+0.3==%v55.09

x+03=+55.09 or x+03=-+55.09
x=-0.3+ +/55.09 x=-0.3-+/55.09

x~7.1 x~-7.7

e) —%xz—x+2=0

x2+§x=3
2
e U PR A YA
2 16 16
3V 57
x+—| =—
4 1
x+§=i ﬂ
4 16
EET
4
—3++/57 —3-57
X=———or -
4 4
x=1.1 x=-2.6
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f) %x2+6x+l=0

x2+8x=—i
3
P 4
X +8x+16=—§ + 16
44
x+4)y = —
(r+d)” =-
x+4=+= 44
3

x+4=,/ﬂ or x+4=—/ﬂ
3 3
x=—4+‘[ﬁ x=—4—‘/ﬁ
3 3

x~-0.2 x~-7.8

Section 4.3  Page 241 Question 8

a) Let x represent the distance added to each =
side of the kennel. "
o x = i x =
10 1t
Ix
b) An equation that models the new area is

80 = (4 + 2x)(10 + 2x) or 0 = 4x> + 28x — 40.

¢) 4x* +28x—40=0
¥ +7x=10

X+ Tx+ ?=10+£

>89
x+=—| =—
2 4

~
o8]

2 \ 4
L TTENR9
2
—7++/89 789
xX=——— or = —
2 2
x=~1.2 x~-8.2

Since the distance added to the kennel cannot be negative, x = —8.2 is an extraneous root.
The dimensions of the new kennel are 4 + 2(1.2), or 6.4 ft, by 10 + 2(1.2), or 12.4 ft.

MHR ¢ Pre-Calculus 11 Solutions Chapter 4 Page 35 of 95



